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Psi = tan ™! (2a/c) = tan ~* (2a/c) =33.26deg
- 2 2 21-05 _ 2 2y-05 — ¢l (102)
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6 =20+ 2=2776/2=13.882 deg

Usage'At Preset intensity"

"phai-scan-verl”

"Instrument Settings" Psi 6 6 "Apply”
104
19
"Incident Beam Optics" "Beam Atten"
"Apply" "OK” “Measure”-“Program” "Absolute Scan”
20
"Instrument Settings"
IIAppIyll
”Cul7042"
21
6 8
22
"Instrument Settings" "X-ray" 15 V,5mA
IlAppIyll X
"Instrument"-"Disconnect" DataCollector
23
"X'pert Epitaxy" "log”
"deg” 20 "View"-"Plat as 2theta/omega”
"Delete peaks” "All peaks”
"peak” "ctrl” F12
"Full Size”
"Results”-“Peak Grid”
"Results”-“Cop " Notepad
(24)
"Convert”

2Theta, Omega

Z
10
"Generator”
"Stand By”
"2theta/omega”
"Define Main ...
"2Theta”
HCSVH



